B f(2) = 2 — 62% — 150 + 30 ITOWTEZX %, y= f(x) DFI 7%
C 8L,

(1) f(z) BHEAME, BMER L2 E57% ¢ 22hznks, f(z) Ok
fif, HIMEERD X,
(2) C EOR (—3,-6) ®iD, C ¥ 3 EHOHTRE TR TRD &,

B a, b, c 135

2<a<b<cZb
Ziti= 33 %,

(1) AEFEXa+b>c Z2WiTEO% (a,b,c) ZTRTHET X,

(2) %K o +0* > 2 2T E57% (a,b,¢) ZIRNTHET &,

(3) (2) TRD7E (a,b,¢) LOWT, A A, B,C LFAVESLOE
ERENEN a,b,c THEZBND NABC & X5, ZDX57RT
RTD AABC ZDWT cos LZACB %K X,



B {an} BRDEIFCEDED B,
a1 = 1, as = 3,

(n+1ant2 — 2n+3)apt1 + (n+2)a, =0 (n=1,2,3,...)

(1) by =apt1 —a, £BL &,

n+2

Y (n=1,2,3,...
| (n 3,...)

bn+1 =

DK D LD Z ¥ R,
(2) HH {an} O—HEE KD &,
(3)

DEZEKRD X,

BIRL f(x) X, TRTOFEK 2 BEFITXRTOBE n 1ZOWT f(nx) =
{f(x)}" Zifi=L, &1 f(1) =2 2ilkT LT 5, L, f(z) DD
5 2fHlE 0 THRVWERE T 5,

1) f(n) £100 ¥ 5% & 5 RERDES n %3k X,

(
(2) TRNTOFEH 2 12V T f(z) >0 TH3Z & ZiFAE X,
(3) £(0.25) &k X,

(

)
)
)
)

4) a PEHEHEDO L %, f(a) & a TRYE,



